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control > patient

SPMresults:./results/mod/cross−2/d
Height threshold T = 3.319030  {p<0.001 (unc.)}
Extent threshold k = 0 voxels
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Statistics:  p−values adjusted for search volume
set−level
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FWE−corr
p 
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p 

uncorrected
T (Z≡)

mm mm mm

table shows 3 local maxima more than 8.0mm apart
Height threshold: T = 3.32, p = 0.001 (0.296) {p<0.001 (unc.)}
Extent threshold: k = 0 voxels, p = 1.000 (0.296)
Expected voxels per cluster, <k> = 1242.050
Expected number of clusters, <c> = 0.35
Expected false discovery rate, <= 0.02

Degrees of freedom = [1.0, 38.0]
FWHM = 47.9 50.4 42.2 mm mm mm; 23.9 25.2 21.1 {voxels}; 
Volume: 1587400; 198425 voxels; 13.8 resels
Voxel size: 2.0 2.0 2.0 mm mm mm; (resel = 12729.09 voxels)

0.049 2 0.016 5078 0.045 0.001 0.006   5.60  4.75 0.000 −52 −30 −30
0.016 0.006   4.65  4.11 0.000 −56 −50  −4
0.018 0.006   4.59  4.07 0.000 −52 −50 −14

0.016 5051 0.046 0.006 0.006   5.02  4.37 0.000  58 −38 −26
0.007 0.006   4.95  4.32 0.000  52 −26 −26
0.012 0.006   4.75  4.18 0.000  60 −48 −10
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patient > control

SPMresults:./results/mod/cross−2/d
Height threshold T = 3.319030  {p<0.001 (unc.)}
Extent threshold k = 0 voxels
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Statistics:  p−values adjusted for search volume
set−level

c p 
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FDR−corr
p 

uncorrected
T (Z≡)

mm mm mm

table shows 3 local maxima more than 8.0mm apart
Height threshold: T = 3.32, p = 0.001 (0.296) {p<0.001 (unc.)}
Extent threshold: k = 0 voxels, p = 1.000 (0.296)
Expected voxels per cluster, <k> = 1242.050
Expected number of clusters, <c> = 0.35
Expected false discovery rate, <= 1.00

Degrees of freedom = [1.0, 38.0]
FWHM = 47.9 50.4 42.2 mm mm mm; 23.9 25.2 21.1 {voxels}; 
Volume: 1587400; 198425 voxels; 13.8 resels
Voxel size: 2.0 2.0 2.0 mm mm mm; (resel = 12729.09 voxels)

no suprathreshold clusters


